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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge O Level First Language Urdu
3247, and to show how different levels of candidates’ performance (high, middle and low) relate to the subject’s
curriculum and assessment objectives.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. We have included some common mistakes made by candidates.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers to
assess the standard required to achieve marks beyond the guidance of the mark scheme. Some question types where
the answer is clear from the mark scheme, such as short answers and multiple choice, have therefore been omitted.

The questions and Part 1 mark scheme are included in this booklet. The mark scheme for Part 2 is available in the
syllabus.

Past exam resources and other teaching and learning resources are available on the School Support Hub:
www.cambridgeinternational.org/support
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How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

Example Candidate Response — high, continued Examiner comments

Ll Fod i A LS Letbri sy | @) The candidate fully
s A i B2y @ | iz cn s
r»’ H‘@ﬁg()%)/j)a }) g%’”cl/cifkmwo“u sc@:)}kwﬁdwajw
Jy I i DA ST Gl i) gt Blagy. | i s S i =
’%" QML /J”Wf’* *’9(5/0‘7013‘77J23)/ O The candidate fully

understands the question,

z&u,owéﬁ,;,,,/wa_/,bw,w,wwwLuwu, w | answers according to the mark
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Examiner comments are -
alongside the answers. These
explain where and why marks
were awarded. This helps you

to interpret the standard of
Cambridge exams so you can

How the candidate could have improved their answer help your learners to refine their
exam technique.

The candidate would have been awarded full marks if they had not missed one L Jy

liye”. To improve the answer, the candidate should have read the question carefully and answered according to the
demands of the question, i.e. a three-mark question needed three points to be awarded full marks.

Answers are by real candidates in exam
conditions. These show you the types of answers for
each level. Discuss and analyse the answers with your
learners in the classroom to improve their skills.
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This section explains how the candidate could

have improved each answer. This helps you to

interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

The common mistake candidates made in this question was that they did not spend time reading the text. Again, they
did not understand the demand of each question and answered without proper thinking. For example, if a question
has four marks it requires four points in the answer to score full marks. The candidates who made mistakes, did not
answer questions fully and lost marks.
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o S e o e e Lists the common mistakes candidates made 5
Often candidates were not in answering each question. This will help your
awarded marks because they misread or learners to avoid these mistakes and give them the
misinterpreted the questions. best chance of achieving the available marks.
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Mark Scheme

Part 1 Reading

Question

Answer

Marks

1(i)

S ol o f o LS (S
OB S s O3 Ospe 8 A -
Un S8 S S Sasll s
OF Sl e ol A -

1S s dad Gy e She e ) S e
S oL o8 S o sos e usS Uy

g N R N SIS PN ST JVON SRR FET-Cp
= U WS LS s b ) S Sglan (S s
o S Sl S el e Guliaa (Sde DA -

1(ii)

RO ok oS Caa Sl Gilhae S G ke
= oy f o S8 sl

op i S QxS Gl 03 leal A -
uﬁ:"\.u,\.u‘)dls Liad Cilia /1 0 ilia [/l g0 5 ) -
O S S S s SUjpha Ca -

ot ULl 5d i siR 0 g e oy (pe OG-
o S Sl

e S8 S e ol S Jiie S DB Al
= ol fom

o) CMa 2aidD() un e Wi g (S S
Ut a5 iR 228 80 /S i

o ot B Sy S st ) psosils s
I

LSRR T I I

B 5 i iy oS Limd [ S Jsalen

S cablia S edBin Ko alie Gl S i Gl
=S ol Jafum e S SIS e
S s Sl e s )

Part 2 Writing

The Part 2 Writing: Levels mark scheme is available in the syllabus.
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Question 1

Example Candidate Response — high Examiner comments

Part 1 Reading
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Example Candidate Response — high, continued Examiner comments
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Example Candidate Response — high, continued Examiner comments
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0 The candidate fully understands
the question, answers according to
the mark scheme and is awarded
full marks.
ok ) G S s )l
Gl cnd S asl Sle sl o leaans
diala il o s g ol sl o S

Mark for (i) = 3 out of 3

e The candidate misses the main
part of second point, i.e. ‘Ghar

kee sajawat kay liyee’. If this had
been added to the candidate’s
answer, full marks would have been
awarded.
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LS alos il s JaSa S (al 55 Ul LS Jali
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Mark for (ii) = 2 out of 3

e The candidate fully understands
the question and answers according
to the mark scheme.
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Mark for (iii) = 4 out of 4
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Example Candidate Response — high, continued Examiner comments
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o The candidate fully understands
the question and answers according
to the mark scheme.
= Lemans b JeSa S Jlpms 5l sl
=l s S el S la sl
Mark for (iv) = 4 out of 4

o The candidate fully understands
the question, answers according to
the mark scheme and is awarded
full marks.
= eaen n psh JeSa S Jlgw 2l gl
sl dad S el Sl sl
o =S deals iz ),

Mark for (v) = 4 out of 4

e The candidate fully understands
and answers according to the mark
scheme.
= e g sh JeSe S Jls 3l sl
=l s S el Sl sl
Mark for (vi) = 3 out of 3

0 The candidate fully understands
the question and answers according
to the mark scheme.
= enen s deSe S Jlgw 5l gl
=l s S el S le sl
Mark for (vii) = 3 out of 3

Total mark awarded =
24 out of 25

How the candidate could have improved their answer

The candidate would have been awarded full marks if they had not missed one point in (ii), i.e. ‘Ghar kee sajawat kay
liye’. To improve the answer, the candidate should have read the question carefully and answered according to the
demands of the question, i.e. a three-mark question needed three points to be awarded full marks.
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Example Candidate Response — middle Examiner comments

Part 1 Reading
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Example Candidate Response — middle, continued Examiner comments
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Example Candidate Response — middle, continued Examiner comments
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0 The candidate shows that they
understand the question and covers
all three points given in the mark
scheme.
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Mark for (i) = 3 out of 3

o The question asks for three
reasons, but the candidate only
gives two. Therefore, two marks are
awarded.
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Mark for (ii) = 2 out of 3
o The candidate only gives three
reasons instead of four.
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Mark for (iii) = 3 out of 4
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Example Candidate Response — middle, continued Examiner comments
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Mark for (vii) = 2 out of 4

Total mark awarded =
17 out of 25

How the candidate could have improved their answer

The candidate missed main points in some of the questions and did not fulfil the demand of the questions. The
candidate could easily have improved their answer if they had read the question and text carefully and had not missed
information provided in the questions.
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Example Candidate Response — low

Part 1 Reading
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Examiner comments
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Example Candidate Response — low, continued Examiner comments
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Example Candidate Response — low, continued
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Examiner comments

0 The candidate misses one
important point in his answer, i.e.
‘Darakht Saylaab say bachatay
hain’. Therefore, only two marks are
awarded.
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Mark for (i) = 2 out of 3

0 The candidate mentions all
three points and is awarded full
marks.
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Mark for (ii) = 3 out of 3

o This candidate does not answer
the question correctly. It shows the
candidate does not understand the
question and/or has not read the
text properly. They do not mention
any relevant points and therefore
cannot be awarded any marks.
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DA 8G adlaia oS Sl sl LS 5
o deala il (AsS A Gl sl o LS s
L <

Mark for (iii) = 0 out of 4
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued

Z/u:wwu’tp)"u/u”a_/téd-}y LaﬂéuI}/L (iv)

Wﬁ#&*&p@mﬁ&%

c’ir(jf L/U’u‘lé)/bljb/[fu"d,/ubbﬂ}/ulﬁ’bfﬂdb»dllv‘Luluu’Ui (V)L
/

1/19(31 Jg/qg m»7 (31,9, B Mo w2a.é & a0 c.—J;Lfl (o] = e
- g o 4 P . > e
cé,éj’ﬁﬁ»mcz’@lsfuﬁy (5o mbt D ) (i %’J%D_J_ =2 e

Examiner comments

o The candidate only gives
two points according to the mark
scheme and is awarded two marks.
The other two points were, ‘danger
to atmosphere’ and ‘thousands of
trees would have been finished’.
39 Ciea (ae S Al Sl ) sl
-u.%:‘dsd*éléjt‘-“:’}i)}‘u#:“ﬁ&f‘m)ﬁ
08 fooba S Jale’ S g g S 50 Koo
R SR ENPTI U CNST B B Y
Mark for (iv) = 2 out of 4

e The candidate either does not
understand the question or did
not read it properly. There are no
relevant points in the answer to be
awarded marks.

= LBl G gmen S w50 )l
Sl 2 5 e s AT gl e Sl

-0 ot G Adlatie (S (e il S

Mark for (v) = 0 out of 4

e The candidate mentions all
three points related to this question
and, according to the mark scheme,
this question is awared full marks.
QG g5 Glaie o g Gl 5l sl
o) e S as) S ke gl o LS 3K
=S deala i o e ) s
Mark for (vi) = 3 out of 3
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Example Candidate Responses — Paper 1

Example Candidate Response — low, continued Examiner comments

é/u' L/lp"L&JQ}J!Jﬁ‘ffuﬁdﬁJumu’lb‘é:yjti (vii)
JS—U (WMJ:U e CEJU}“‘SJ\_J,LQ/}D ~S

o The candidate does not
answer the question. It shows the
candidate does not understand the
question and/or has not read the
text properly. The candidate does
Ml e CP- C:W(Q\S @ C)'a QSJ;@J ’BS& 2.5 not mentionyany relevant points and
therefore cannot be awarded any
marks.
o e 0 U ol S Vs 5 ) sal
eaan 03 S Jlsw sl AS o lla iy
AL 5y G s S S e L )5S
o) s LS Gy SO 1S ClSS Allaia ) gaual
ks 2 G e B8 )
Mark for (vii) = 0 out of 4

C*W/JJJ) \5) %0 c:‘Ja%)Lg: ;9\ #/J//Uy

Total mark awarded =
10 out of 25

How the candidate could have improved their answer

The candidate did not read the question and text carefully. Most of the part questions were not answered. The
candidate mixed up questions and some answers provided were not relevant to the question asked.

s 2 Sl S o s SO S W 5 lsaal L 8 0 G Ol S W s yiedl 5 G e 058 S Gl sl s Sl sl

Common mistakes candidates made in this question

The common mistake candidates made in this question was that they did not spend time reading the text. Again, they
did not understand the demand of each question and answered without proper thinking. For example, if a question
has four marks it requires four points in the answer to score full marks. The candidates who made mistakes, did not
answer questions fully and lost marks.

enem O s S llae S Ul 005 el 18 Lad iy (e i 5y Gle S sl NS el o S R ale s 5050l sal e Jl s ol
D oecln A S S Sdala peis e ) Son i d Sl oS S g psh S ) S Gl g Sz e lia
- 568 el s L Gl s deSe S W g 5 0l S Jhale ) sasel s o s IS (A8
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Example Candidate Responses — Paper 1

Question 2(i)

Example Candidate Response — high Examiner comments

S ngzwu:?”‘ 4501 400300 415 ..«QJ( e 1 S s a
oo Z
= “
<-7 %d N uestion
O,; f/}ﬂ 9) /0// : Questi 2
Jf} 0]

[25] -&5 :«:b":,J/U;Ll/&,l?‘g,gJ}wf” K SSF laf:g e 2
&L )

[25] _“é&igwu Yot d/ (K;!ijuﬁg ;‘lr‘
J,Au“ (i)

[25] -JJ‘#%)U}"{ TKU::C%}J d- ojlui, uﬁdkcﬁd;a I
gk

[25] ~~£J{ 3G~ SIS K S e SB Y p S I E IS 2y

glé‘éa’_/,_,mmy..{tu’( Sy Loy

_éz, 9.8 ,7
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Example Candidate Responses — Paper 1

Example Candidate Response - high, continued Examiner comments

cgﬂ@)dﬂabuﬁbilwiWL ............
woo@ruw/ownﬂﬂe

@
Q\?’W ¢)b4ﬁ@fg7~'\f//dﬂ\7f¢&/ - @Xﬂé/j&
i V\} LYz ol 2 Ll o) ) U 1l
L MJJW& G»U/ . <2/.
e Uﬂ//}u;m st . [//(Mf el
e8] a&leab)yﬂMﬂ; k- d/()W(;(J!'(SW&\-’W,

e e e et e et 10 oo ﬁgf/u(v

........................... ‘o /b\yv%éoww}y/cyb(«u
b\gﬁ»/* ﬂ/l LTV M@U’/ S @sz, dlsq Al
L b//)/ww/zq):”c\)wyb’,ﬁ bl FL‘ TP “0
.UL»\C-V e ,)y/,}// = /()uu 191 ("u
.@/9@»»0 l@l}bﬁ A gyt QL»} W;»JVU “Q\// (}/J
gl leaQlz el a@M/
el deJcﬁ..,M. .........................................

e
Ll S /C/UQ e e g

0 The candidate starts their
answer with a long explanation of
‘llam’ (Education). The question
asks about the use of the internet
in education. Therefore, this part is
considered as irrelevant.
dash (S (malad) “ale” il a Wl S ) 52l
ol Aol o Wbl Scalag
palad Jl gm0 LS Lemans et 2 S ;s
lea s ume e Db =S Jlaaind) S i 330 (e
o e b Salay (Sl S8 8

o The candidate uses very good
language to answer the question,
e.g. complex sentence structure
and idioms and phrases.
VR R g L U PENS LNy | PR g PRVON
Sl o e = S il (15 o)
&J}\LJ_’M‘AL&L&‘;
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Example Candidate Responses — Paper 1

Example Candidate Response - high, continued Examiner comments

e s e e Uc,»;uﬁgfﬁyﬁ/fwf/’“

c_’(j;/a__w( d%uﬂJy@dJUQ/u/NH}
Ck’ u,)y&)f sl Sl f//&/u,»‘ f@/
bbb/ﬁl @»ﬂw//(g Ufaj 0.5, d/ﬁ” Uw

lci(ﬂ/gi;(/uw”dﬂ Q;J{"/)/J/U”

internet to support the candidate’s
(‘J ).9)“9 Q)ﬂo ,9) % Yb‘udﬂi 37 & L/.)?y answer.

7z d//@” b gy dlgglad | LA
D/. M@@w “c;\/;”wb/’@,?lv Gl

t‘a/Usa

o~

. (/C, bvu)/"l = {5\/,)9/49/’ ((4,/(}»”[7 ~‘"-f”j“l

—ezs b g, U?V N N B ALY
0P

et lf/% bl / f«[ o2 2
)/V7 fof \)9" ,\/[) )K?M(J)/M(/W{)”l cﬂ/\/

W@“f%ﬁ@”w;b wehealg oz ogran
cﬁ){le”’w/” )’J[ﬂm\/«“ Kf_i)bl@fd Z/a(/)
e e Lyl Mo Gl e )
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Example Candidate Responses — Paper 1

Example Candidate Response - high, continued Examiner comments

oo el b ap e A\ sdy 2
"ﬁl’dc Loy fla. ligsd 20928289 2 0y aa. i dﬂlzo

......... Jr w22\ }e’/ﬁ/\ujggycyﬁ”a@» L o). ch
e w/[ L)?P U’)/ 9’()*’ Jdﬂ(}bﬁf%
sregplar bl gl e @8 500 azle .
! ngpp»g)gmég/;l/i ZZJ//{.MQ:Z

Y v oy
i ol it L el s S L e
:mé)/(ﬂ?’}’ )9]7/%/4]@1 du;-”)gﬂ«*”\oﬁvz/d/

f.g,/g\w{; e w/ﬂl jgwwax ()»))(y
@wiv/fd/@/y o Byl <o o) g2 T czwd
40@&: il 2 @/UQ//JMJ =
G- Lve 20l 4&!5{1 k7

-~

o The candidate gives more
information about Google and
Youtube. Also, the candidate
mentions that, due to the pandemic,
the use of the internet was very
helpful in education.

O 2 0b S sl s KR S sl

j).céu.u\ Ciéea\‘)s&_\u}h.n AL:)

Cm,\éjéh},ss:lbs‘)sd ‘)‘_5.\.\.4‘
;UDJISAMMUM?J“JMHS‘_\MJM\
J
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

() @ 'l 85 i)
Cf_”cf‘bﬁ"/ @’ujcggwf/j’g’/ybﬁ/fg
56w W e (s

| 55 4 dy& Y e Q/’(‘»)p/ U7 Nt /}ﬂo with a conclusion and mentions that
U’/}”? U’/@W(»’ //C Q//dg(xdc:%&') %N o 1 'the intern.et is a valuable invention
DGl e b N, ST L | e
: < < w2 Or?({ L&j C//I

LS 22 ol n gl S a3 )l

s Sl e anlad S 1 A8 LS KD )
M o ol gl gk oo b ol | TR
2l LK ol 2 oo @l g ol i i) - o
ool Shq ULl e g)’w«{fﬂ ) NS e
39 o) ool e gz on M B 5 ol e b i

o The candidate ends the answer

g % e More marks could have been
awarded for task achievement if
there was no extra explanation of
the word ‘Education’ at the start of
the essay. Similarly, the structure
marks are also affected.
S S e Bl e el S saaa S
S (S Sl 6 (3 g 3 Calia Ll
0 e la S sl i 30 S

on S e e et S a3z ok ol

Mark for Task Achievement and
Content =7 out of 10

Mark for Structure =
3outof5

Mark for Language =
8 out of 10

Total mark awarded =
18 out of 25
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Example Candidate Responses — Paper 1

How the candidate could have improved their answer

The candidate gave a long explanation of what education is which was not required by the question. The candidate
should have started their answer straight away with writing about use of the internet in education. They could have
improved by avoiding irrelevant information about education in general.

b S Jlesind S i ) (ae aalad €l snnal e WS L o1 0 e Jlsw e 2 Db S Gon o WS alad S (S il dygha Sl 5 ) s
Sl ) S8 38 e Sleglae e j2 ez )b S adlad gy jshale og el Sula U S 558 lsa W) Gl ol gl S 368 e
o S i

Common mistakes candidates made in this question

The candidates did not read the instructions carefully and did not differentiate between argumentative and discursive
essays and, as a result, they discussed or described the topic rather than writing an argumentative essay.

Osama g Sy 505l Gae i S Gl 5 LS a3 (38 (g2 e seae s iy g oy 55l 5y Gl s S bl 505 ) sl
st U S pa S o by S ol S page e LS Jua il g siase ol Sl S 8]
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Example Candidate Responses — Paper 1

Question 2(iii)

Example Candidate Response — high Examiner comments

Part 2 Writing
oy .,gutwuf‘” 45U 400-300 4015 uglu’( el S

Question 2
JJ 0}
)
1251 cFete St uGl e 256 S e oS
Y (1)
[25] -é &L e Vet J r()’;%}/uﬁ P /" (>

Jrfj/" (iif)
[25] -{’.{Jlala’{;u/ TKU)L% /’y J -.:/(lw?.. uﬁd&édﬁ &
ok W

o -SSR e B NI Iy

c«@a’ﬁg:__/vvlﬁgdlyu{kfr L—u:u}“}/é‘:rﬁ)p‘}:bbJJ

-21491:18,7
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

- J=/(.)L L. (_}L«JL ‘aéz.—.’:{l LL;/J dalsls. UL,,JL (-gL le.d

e ea,-.‘ dl'“’f"“-'}fy gk Gl ULMALQ.J, (’ﬁ.’f
ot (il i Q;@ ol LJJ:.J... ULMILL.JI,.L;:;J
......... Lab 3G gl (ol Bt (S oz i ot Bt T

3 /

e ] (Lpl u:]u {5 Q_,»JI ni’ . dj«*’l (o2, ,N,La

.................................................................................................................................................. n @ he introduction directly
addresses the question and
demonstrates good effort.

S U,ujuv ... LbL;N z)lfw "*~'§AG>)"”| dj«»l L U" 39 s ol S g ol ol i
L‘gfde Lo/d_sl“"!'(.abbﬂ ..)\J}Jf:?i[? (...bl ﬂdﬁu;’j Y
O,u.?[j ()-fJf_S 9. L.Al!; UUW ’M L,(ij’fj]
....... ) (..u,l ga.)ul(}ubg C_JLul'f‘
Yo f%“f‘ T 0‘”
........ cs—_eé‘zf ‘ﬁ’fﬁb"‘l—?&"f ga’f.u 8“ Lo JJJ
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

. =:‘74 uu,l...,).su» L_,w(,.—;/; é oy Lﬁ.s(.z&élaf c’.;i L.»l
______ ;;;,pf'j f GLqu; pny rfl 'ij’ {oml. (]wy'\b(f.a().@,_g 4'3}'“’0 OThe candidate sets the scene

nicely. The demand of the question

$J .y QAL.u(.:(iI].uJ UW/:.—.—L U,Lw £ Ql . 3 "y is fulfilled by following the question

statement.
........ (s Jlss. ST 3. gu OO (et S Can o enl oS ke ) el
WW M @b @ J) & UJ S SEde noe 8 8 e s
gubg ine - @4@»’@,@;0»\ @:& @o - g ,»J,;u. o ES gy S ol S e

lyJ LA.«/.)L e aﬁ....dgwb = Q,,J 3. laSsp c.«_\d.
................ uj’ @” Py Ty P’” wolan G, [,-» (p\ese. d,U\.

ol 3

oot ot maéegu(.sla-_éj(,u a0zt 2l

=2 9
U}W ..... P Y .,:JJ.?..@...{(J.) (JL« L,;.J]J s c{f
o . / /
uﬁl.‘?mkfw'-‘:_“: L, el Py @,» Umﬂsf o Qr‘“‘ !f

C_{‘U U"" uLJ; y’ > 3 8 ;_—zﬁﬁ Uks.asl..tb d’y‘c{:"‘
G BINE e hM(_J,QJ’.LaUJS’-Qb’ Gyl 2 gl 72

o @bm,) U"'L‘d(/w‘/{/(f ),:J);//:( (D’U"’!dl’jﬁ @W

/MMW(BW’ BJJJIGL’J ks '}*’ JL.sl La L__AJ]) A d.’.l

............ szl s (@/JLAJOJ ¢4 L,U-LZ (3«/A /é Lb//’/ éﬁ/w L;

((—J/J UJLJJ,M,‘,J L// Uf,b
/’ %wiwe-c,»/(,-/@é Caheors. RAEREE Lu f'if
Q/,@Oybw U,/Lywpfjﬁl (///J
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Example Candidate Responses — Paper 1

Example Candidate Response — high, continued Examiner comments

kg /&CM @ ﬁ/u, By A i 4 ol 2

e Gt crpagrils e:‘i’o..ﬂ M/M,, R/ O,Jo
el 2ol g.—zc;...@ﬂ ,y/l;//( (/m €hgt- Jy’ @Ju
ey ,4))‘) )J {?IA:/GI UL,]/ ol w/ Q,L/;/

w_)/l)/)ud.’-’w.
Sy e

P‘"“’*O” ry(jyf’/sl.... CWCK“}
,a//)/ d:i dfifb .U(,,,JL g
/(“'?/L QA /)/MN,JA.«)J/GLW/W //Lodfl

ONAVLY L,.// {/J /:;1)@:,)//../?.. c_»:'(,y(cfu{

.................................................................................................. ol L. L. f
a ot gt s (ﬂd‘//"’é’ U/
.............. e//a/{,,l & O)//J@g/,.x/ Ll ///,,//g.e/,/ /Lfo

s /Ul(/f"C/’Of(/"/ C,,.s«(,w‘@/ é;..(.j!..,l}./..g%.’,l..

S o
o

U”’”’
e, gf gx(/ e

o The candidate describes
the scene with examples of the
activities they have seen during the
event.
S 0 8w O S laie Gl ) sl
s S osel s = LS Ol il S sl
o S U S

o The whole response is divided
into the three main parts of a good
essay, i.e. beginning, middle and
end. The candidate gives full detail
of the event with proper ending to
the essay.

O S Osaian gl Sl S Gl 2

Ol G o WS LS andli Gae ) geas o

Clia S (ygama Sl gl LA gl dang
.cadadgmida&éu)ﬁ@bé?ma\

e The candidate gives good
examples of the activities on the
day and could add a few more
to score full marks. Similarly, the
whole structure was very good. In
language, the candidate is awarded
9 marks due to excellent use of
language with a few lapses.
82 S U Rom (S G S sl
S8 deala i gad 2 ) os) o ol
ol Lt U la LS Ll gl oS ) S
S gsane g b
el e 0 A5 el S oo ~aila3 1y
G SOk e S oS eSS S
=S deala 5aai 4 aa s S sl

Mark for Task Achievement and
Content = 8 out of 10

Mark for Structure =
4 out of 5

Mark for Language =
9 out of 10

Total mark awarded =
21 out of 25
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Example Candidate Responses — Paper 1

How the candidate could have improved their answer

The candidate could have improved their answer by stating if they were participating in the 14th August event in
their school. Introductions were not required for this type of question. The candidate wrote one paragraph as an
introduction that was considered as irrelevant. Apart from this, the candidate could have improved by using correct
spelling and grammar.

S ) S g S Gl o Ly e (a0 ) (S il Y E e JsSl i) oy LT AS L WS S i oS a3 S Ul sl
e O Dl S sl odle S Gl U8 L Allatie e s STy Hola S o lal SO Gl 81 S Sl sl (s e D5 e S
L5 S Ly i sl S Gl SS Jlaniad IS el S5l

Common mistakes candidates made in this question

The common mistake candidates made in this question was to write an introduction. This type of question does
not need an introduction. Other common mistakes were spelling and grammatical errors. The language part of the
question was also a bit weak in terms of grammar.

S5 o s S el S s S and Gl Lt LgSd G el () e e 0y (S hlE ale i sl sl ae g
L a8 15568 il S el R g s W15 0L S Jlsm o dle S Gl el Jbale (S el R sl o glihale ale S
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments

Part 2 Writing
. ““
wr ugui'»/ly 4591 a00-300 41 _.guf e el J; Sos

.

Question 2
‘j:f, @
[25] Y c«:b‘c,J/U)LUG.,l?‘L ik S La(:"j el B
KL (i)
[25] -“é EE s /J SV Ty Sl

J:AJJ’ (i)
[25] _J‘Jbb{,u,f Tl /”I it :«flw?: o Jl,:ﬁd:cfa;_l
P w

1251 _EFUES A LSS A S8 6 T SIFZE Ly

:«L?’”L;:_{,.,Aﬁ KL JV-.{IJ( a,uﬁu)lyéruﬁ:&)

_é;,SJ}’S,7
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

gl C):’OL."fAS’LzF Ls2bal (). (yw/\J/szbfd L:E ......

_ : = ‘ . ql
E@W%L}&Jﬁlu &.»Lef e Qﬁ"\/bj o 0 The candidate gives irrelevant

information to support their answer.
Here, they should have mentioned
what happened to them when the

[
008 %‘ 2 djﬂ L‘f . A_O.-JJ«‘*’ i car stopped suddenly.
ol (Sl ) sl
/ki ULJ» L} &_9 WJA) L}Lﬁs ,,)...Bl L->..¢ &@Qw\wluuﬁ.uﬁd;au,mih.u

RS S Slal s Sl Sla LS S
G Ul.,!,z} ..... 6/’\ \~u.> X j‘-‘L‘z—‘(.S‘J _,/.:.*-_02 ,gé'l.e TN dsnlS gl Sl s

@,J»(p»d&b Gl e e 0 )2 g5 ij .....

....... \_;wax.)lw @ ¥ 3 . Al o g

dj,hoﬁiwblwﬁ#djﬂucu>é
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

5 Lo /fm = jﬁ ﬁ 2T et e oLl

)) ”
{/\/“’ QU“’ d)QjJA?_ ()q—bﬂ\ Gl b
........ 35 fp\ 3Rl @s TSRt T W
.............................................................. SR P el o B
o o All information is irrelevant
............................................................................................................... . and does not relate to the given
question.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

.................................................................. b ()
/L%QL/p»’K(}:b()—u; . »W:Cﬁ!fm oyl ...
Y - O L..,LLD LSO (ool

/1 Y

~

W@)&/Mm B élouw
%Tu)),) ,—i[u» tb) .....
J\JJ)J T B S 351 0= A A B W Y 4&.&4’,9)“251 2.

ﬁp ol bbbhh/: \._iuf’ﬂuj (r‘”’zf\ ?Z/\/ELS

.ijb v/\!,)....r\mﬂ) . @‘mﬁ

...................................................................... ol (Forea R d‘ﬁi.&bu&" QU—N
CE 83 b b T AR I | DS IY NI N
ColarCagda s 520 2030 GT & .20l Q).
....... Q:*C?iﬁﬂ ¥ (ot ,»ﬁqumx PRI Aty ,u]o
WASTUNTS WSL N (%J l*w X. c)j)b»w ..... @. Joteds
A 023). .2 A J,é’ (ESTIVE I 4 B S WP

0 The candidate does not
answer the question and gives
some irrelevant information. The
candidate should have started their
answer from where the statement in
the question ends.
LS G dee n ol (S g 5 ) sl
o2 s emen (g S alldas S Jlsu
LS g5 Gl gl S Gl glaa Adlatia
Db 8 e U S 5 5d il sa Wl S ) sl
s s g Wby

a The candidate gives irrelevant
information not needed for this

question.
AS o on S S Ui el g5 a2

'U:“r.“.—‘“u“gdéd‘}“(.}“‘
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Example Candidate Responses — Paper 1

Example Candidate Response — middle, continued Examiner comments

’Jﬁﬁ);\p—ﬁ
PN &IJ‘ s L w/uur Jpr\/%S"{Jl(rNJ
- /\/ - C <
Oy bg(ﬂwaﬁ }] =] JJl-A¢
\ =~ . (38 = N -,
Cﬁg@\g}f—tﬁvwab(—m e §L(J—/
S //‘ o
(/IM/B,W(L:UKM”()L))MLJU\AJK‘)J»BJ
- %03 5| 21 o) U))% sl Lo
5| (B o ) (5 Lo o (o> 25 Mo °Thispartisrelevanttothe
Qf’é' ﬂ()))%m \ ’,//3?‘ J"“’:( . //uJo question buttagzra]int?]o more getail
- <Te == = I= ~ is given as to what happened once
fF))tb// ‘T’/I/ v 9 }(/g (2L o L/‘ (> thgen ine broke down. Marks
= S = T o= 9 , Cown-
7 /gJ ST ¥ 5y 5 s — 9 ¢ L N g K | awarded are mainly for language
S 7 J- YT % « - e and structure
— = s ) .
Ltg &) 29} LJ/:SQ{( L, J o2 LE’L'-U fuuof-—’; NS = R 60 Uy el 330 3 2l
- - — - Fal - -‘ LIS . ‘_“ .. .‘
— i By 92 ke s | S S 5 i SR o
—C — b g osb ey o 8 0 s s

o 2 S piad

e The reason for 2/10 in task
achievement and content is that the
candidate’s answer has irrelevant
details. Similarly, the structure is
very weak. However, the language
is very good and therefore, full
marks are awarded.
a6 o dse sl HelS (S S
m b e L8 LS iy COladi Al
Jals sai 2 sy sl b D33aS S npilad
e e Dp gy At lE o 8 S S S
=S dals e Ha So) Ao sl

Mark for Task and Achievement =
2 out of 10

Mark for Structure =
2outof 5

Mark for Language =
10 out of 10

Total mark awarded =
14 out of 25
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Example Candidate Responses — Paper 1

How the candidate could have improved their answer

The candidate could have improved their answer by following the demands of the question. It was a narrative
question, and the candidate should have started their answer from the end of statement that was given in the
question.

There was nothing related to the question statement except on the last page.
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Common mistakes candidates made in this question

The common and very serious mistake candidates made in this question was that they did not provide relevant
information about the question statement. Candidates started their answer either before what had been asked in the
question or made a scene to answer their question. The simple principle of the question is to read and answer straight
from where the statement ends.
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